CRewn. ADD Pk St 3
\ﬁw/Zoool | o o 1%2’

i) Mfi”- m‘&-—m*({e Mmo?u.qu “h’-)L'E f‘gﬂ —->»-l¢+f~’lews

2 & _ = 2eV e
/_,1) 'z}'//'*"f"’ c!/é et

2 Tolle 0 . ¢
/0-: __i_____._—- = (%SH‘M.‘ x[¢ "‘A“ux ARL

Zé/é\/ -
2" l?f&gbmp F 4,9,‘55\/; l?5¢ ____glo‘} -~

1494—-’”'"“ = l‘?‘#l#‘-ﬂ.c«m

2_) £ o W%nmmw
>z 3 /a *ZZM“"%" B.125 4

)]

2-8%ev

v
é 6267“0‘:_‘ A RSO MA
430 515t ma x l607.)t(4p"i <

Zér}Lﬂm.g ey

D R Felhan phobpuk Y- By \ A e 498 e/
(R ~ "g.‘u\// dov't aend
Ami/b;z

@ P el = % 2&:3@22/

n

+Hin
AW&WP&K we Yy IBPG—I
: ' oAUl omeroll P &mek o+vv = Ay= 31?9‘-0\4
@ f’()&«'ﬂ' ERd %’ ~> (’M = ZL‘z‘j;,,%vczﬂw o~

CRNR T LOE St o Procst = G 32
1S el | Pl *zz%};

Ao ‘D'Sa/u? Z-':" f{;{%&g ~ _5/,_




{/‘—’“o—d\rcgo-g/a AX = &Q&(Z.zu aip > Z)b'z

4)%4“ A= N1 = N@®LY 2 (2%

Z -4
{ M* 70$\D ,*;'leo ’__*A,g \F}(

—Bu:V 23S
we é == TARW
777
ﬂu.Z VF
+ —-'?-14;\;&»

(23 ),., 7“}5 :1/\*&3\51\
235, Q= ARk B, - DL AtBY = 4418 keV

20,..{0_ d“b E - 4?913“)\, A»Q-\ 'q 4/""”‘- »TLM Lu—a;‘—\—'

287
2otxio?  “/pu?
qﬂ:‘:\—/“ ‘- j" 4' -I?
A- 2% M v agAl « 7433 + 120" ¢ \Uhwb s x 3VAERD
ZF 4N 2

4= 4.1 x\se—}/A/cu»" = &5 how&e‘)up»-&fh—\.
-



